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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.4261 ±Constant = 3.373 

 0.5733 ±Mean     = 135.2 

 0.4054 ±Sigma    = 5.559 
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 0.4261 ±Constant = 3.373 

 0.5733 ±Mean     = 135.2 

 0.4054 ±Sigma    = 5.559 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.989 ±Constant =  18.3 
 0.1229 ±Mean     = 146.9 

 0.08687 ±Sigma    = 1.384 
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 1.989 ±Constant =  18.3 
 0.1229 ±Mean     = 146.9 

 0.08687 ±Sigma    = 1.384 
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Chip 2 Vt50 at 2.00fC Nent = 128    
  1.84 ±Constant = 16.93 

 0.1328 ±Mean     =   146 

 0.0939 ±Sigma    = 1.497 
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  1.84 ±Constant = 16.93 

 0.1328 ±Mean     =   146 

 0.0939 ±Sigma    = 1.497 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.796 ±Constant = 16.53 

 0.136 ±Mean     = 147.8 
 0.09617 ±Sigma    = 1.533 
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 1.796 ±Constant = 16.53 

 0.136 ±Mean     = 147.8 
 0.09617 ±Sigma    = 1.533 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.932 ±Constant = 17.78 

 0.1265 ±Mean     = 145.5 
 0.08941 ±Sigma    = 1.425 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.932 ±Constant = 17.78 

 0.1265 ±Mean     = 145.5 
 0.08941 ±Sigma    = 1.425 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.747 ±Constant = 16.07 

 0.1398 ±Mean     = 149.3 
 0.09888 ±Sigma    = 1.576 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.747 ±Constant = 16.07 

 0.1398 ±Mean     = 149.3 
 0.09888 ±Sigma    = 1.576 
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 0.1224 ±Constant =  1.15 
 4.399 ±Mean     = 26.01 
 3.266 ±Sigma    = 26.66 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.762 ±Constant = 25.41 
 0.08846 ±Mean     = 55.88 

 0.06255 ±Sigma    = 0.9969 
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 2.762 ±Constant = 25.41 
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 0.06255 ±Sigma    = 0.9969 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.568 ±Constant = 23.63 
 0.09514 ±Mean     = 56.19 
 0.06728 ±Sigma    = 1.072 

Chip 2 Gain at 2.00fC Nent = 128    

 2.568 ±Constant = 23.63 
 0.09514 ±Mean     = 56.19 
 0.06728 ±Sigma    = 1.072 
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Chip 3 Gain at 2.00fC Nent = 128    

  2.47 ±Constant = 22.72 
 0.09892 ±Mean     = 56.97 

 0.06995 ±Sigma    = 1.115 

Chip 3 Gain at 2.00fC Nent = 128    
  2.47 ±Constant = 22.72 

 0.09892 ±Mean     = 56.97 

 0.06995 ±Sigma    = 1.115 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.582 ±Constant = 23.76 

 0.09462 ±Mean     =  54.7 

 0.06691 ±Sigma    = 1.066 

Chip 4 Gain at 2.00fC Nent = 128    
 2.582 ±Constant = 23.76 

 0.09462 ±Mean     =  54.7 

 0.06691 ±Sigma    = 1.066 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.144 ±Constant = 19.73 

 0.114 ±Mean     = 56.89 

 0.08058 ±Sigma    = 1.284 

Chip 5 Gain at 2.00fC Nent = 128    
 2.144 ±Constant = 19.73 

 0.114 ±Mean     = 56.89 

 0.08058 ±Sigma    = 1.284 
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Chip 0 Extrapolated Offset Nent = 128    

 0.4416 ±Constant = 4.068 

 1.779 ±Mean     = 32.26 
 1.271 ±Sigma    = 20.09 

Chip 0 Extrapolated Offset Nent = 128    
 0.4416 ±Constant = 4.068 

 1.779 ±Mean     = 32.26 
 1.271 ±Sigma    = 20.09 
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Chip 1 Extrapolated Offset Nent = 128    
 5.586 ±Constant =  51.4 

  0.14 ±Mean     = 32.43 
 0.09897 ±Sigma    = 1.577 
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 5.586 ±Constant =  51.4 

  0.14 ±Mean     = 32.43 
 0.09897 ±Sigma    = 1.577 
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Chip 2 Extrapolated Offset Nent = 128    
  4.85 ±Constant = 44.62 

 0.1612 ±Mean     =  32.2 
 0.114 ±Sigma    = 1.817 

Chip 2 Extrapolated Offset Nent = 128    
  4.85 ±Constant = 44.62 

 0.1612 ±Mean     =  32.2 
 0.114 ±Sigma    = 1.817 
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Chip 3 Extrapolated Offset Nent = 128    

 5.105 ±Constant = 46.98 
 0.1531 ±Mean     = 31.21 
 0.1083 ±Sigma    = 1.726 

Chip 3 Extrapolated Offset Nent = 128    

 5.105 ±Constant = 46.98 
 0.1531 ±Mean     = 31.21 
 0.1083 ±Sigma    = 1.726 
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Chip 4 Extrapolated Offset Nent = 128    

 5.818 ±Constant = 53.54 
 0.1344 ±Mean     = 33.46 
 0.09501 ±Sigma    = 1.514 

Chip 4 Extrapolated Offset Nent = 128    

 5.818 ±Constant = 53.54 
 0.1344 ±Mean     = 33.46 
 0.09501 ±Sigma    = 1.514 
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Chip 5 Extrapolated Offset Nent = 128    

 4.643 ±Constant = 42.61 
 0.1687 ±Mean     = 31.63 
 0.1211 ±Sigma    = 1.903 

Chip 5 Extrapolated Offset Nent = 128    

 4.643 ±Constant = 42.61 
 0.1687 ±Mean     = 31.63 
 0.1211 ±Sigma    = 1.903 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 0.6227 ±Constant = 5.843 

 45.34 ±Mean     = 393.5 

 33.09 ±Sigma    = 329.6 

Chip 0 Input Noise at 2.00fC Nent = 128    
 0.6227 ±Constant = 5.843 

 45.34 ±Mean     = 393.5 

 33.09 ±Sigma    = 329.6 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 9.092 ±Constant = 81.99 

 1.816 ±Mean     = 598.1 

 1.351 ±Sigma    = 20.62 

Chip 1 Input Noise at 2.00fC Nent = 128    
 9.092 ±Constant = 81.99 

 1.816 ±Mean     = 598.1 

 1.351 ±Sigma    = 20.62 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 8.909 ±Constant = 81.74 

 1.833 ±Mean     = 592.3 

 1.305 ±Sigma    = 20.66 

Chip 2 Input Noise at 2.00fC Nent = 128    
 8.909 ±Constant = 81.74 

 1.833 ±Mean     = 592.3 

 1.305 ±Sigma    = 20.66 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 8.589 ±Constant = 79.42 
 1.891 ±Mean     =   577 
 1.319 ±Sigma    = 21.26 

Chip 3 Input Noise at 2.00fC Nent = 128    

 8.589 ±Constant = 79.42 
 1.891 ±Mean     =   577 
 1.319 ±Sigma    = 21.26 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 8.742 ±Constant = 80.96 
 1.846 ±Mean     = 605.6 
 1.335 ±Sigma    = 20.87 

Chip 4 Input Noise at 2.00fC Nent = 128    

 8.742 ±Constant = 80.96 
 1.846 ±Mean     = 605.6 
 1.335 ±Sigma    = 20.87 
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Chip 5 Input Noise at 2.00fC Nent = 128    

  8.41 ±Constant =    78 
 1.927 ±Mean     = 587.3 
 1.333 ±Sigma    = 21.64 

Chip 5 Input Noise at 2.00fC Nent = 128    

  8.41 ±Constant =    78 
 1.927 ±Mean     = 587.3 
 1.333 ±Sigma    = 21.64 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.465 ±Constant = 13.48 

 0.1667 ±Mean     =   149 

 0.1179 ±Sigma    = 1.879 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.465 ±Constant = 13.48 

 0.1667 ±Mean     =   149 

 0.1179 ±Sigma    = 1.879 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.661 ±Constant = 15.28 

 0.1471 ±Mean     = 147.4 

 0.104 ±Sigma    = 1.658 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.661 ±Constant = 15.28 

 0.1471 ±Mean     = 147.4 

 0.104 ±Sigma    = 1.658 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 1.537 ±Constant = 14.14 

 0.1589 ±Mean     = 146.7 

 0.1124 ±Sigma    = 1.791 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.537 ±Constant = 14.14 

 0.1589 ±Mean     = 146.7 

 0.1124 ±Sigma    = 1.791 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.194 ±Constant = 10.99 

 0.2046 ±Mean     = 146.5 
 0.1446 ±Sigma    = 2.305 
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 1.194 ±Constant = 10.99 

 0.2046 ±Mean     = 146.5 
 0.1446 ±Sigma    = 2.305 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.817 ±Constant = 16.72 

 0.1344 ±Mean     = 149.7 
 0.09505 ±Sigma    = 1.515 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.817 ±Constant = 16.72 

 0.1344 ±Mean     = 149.7 
 0.09505 ±Sigma    = 1.515 
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 1.533 ±Constant = 14.11 

 0.1593 ±Mean     = 146.6 
 0.1127 ±Sigma    = 1.796 
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 1.533 ±Constant = 14.11 

 0.1593 ±Mean     = 146.6 
 0.1127 ±Sigma    = 1.796 
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 1.609 ±Constant =  14.8 
 0.1518 ±Mean     = 57.56 
 0.1074 ±Sigma    = 1.711 
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 1.609 ±Constant =  14.8 
 0.1518 ±Mean     = 57.56 
 0.1074 ±Sigma    = 1.711 
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 2.156 ±Constant = 19.83 
 0.1134 ±Mean     = 57.34 
 0.08017 ±Sigma    = 1.277 
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 1.878 ±Constant = 17.28 
 0.1301 ±Mean     = 56.92 
 0.092 ±Sigma    = 1.466 
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 2.029 ±Constant = 18.56 

 0.1211 ±Mean     = 56.05 

 0.08577 ±Sigma    = 1.365 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.181 ±Constant = 20.17 

 0.1114 ±Mean     = 58.78 

 0.0787 ±Sigma    = 1.256 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.351 ±Constant = 21.64 

 0.1039 ±Mean     = 57.31 

 0.07347 ±Sigma    = 1.171 
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 3.949 ±Constant = 36.29 

 0.1993 ±Mean     = 30.41 
 0.1419 ±Sigma    = 2.234 
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Chip 1 Extrapolated Offset Nent = 128    

 4.392 ±Constant = 40.41 

 0.178 ±Mean     = 30.63 
 0.1259 ±Sigma    = 2.006 
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 4.186 ±Constant = 38.52 

 0.1868 ±Mean     = 31.79 
 0.1321 ±Sigma    = 2.105 
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 3.104 ±Constant = 28.56 
 0.2518 ±Mean     = 33.15 
 0.1781 ±Sigma    = 2.838 
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 4.443 ±Constant = 40.81 
 0.1762 ±Mean     = 29.02 
 0.1257 ±Sigma    = 1.986 
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 4.443 ±Constant = 40.81 
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 0.1257 ±Sigma    = 1.986 
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 4.973 ±Constant = 45.75 
 0.1572 ±Mean     = 31.25 
 0.1112 ±Sigma    = 1.772 
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 4.973 ±Constant = 45.75 
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 7.974 ±Constant = 73.54 

 2.039 ±Mean     = 577.5 

 1.433 ±Sigma    = 22.96 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 8.927 ±Constant = 83.68 

 1.805 ±Mean     = 579.9 

 1.214 ±Sigma    = 20.16 
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 1.214 ±Sigma    = 20.16 
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 8.277 ±Constant = 75.62 

 1.978 ±Mean     =   602 

 1.425 ±Sigma    = 22.34 
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 1.425 ±Sigma    = 22.34 
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  8.41 ±Constant =    78 
 1.927 ±Mean     = 587.3 
 1.333 ±Sigma    = 21.64 
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 1.333 ±Sigma    = 21.64 
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 8.632 ±Constant = 79.13 
 1.892 ±Mean     = 593.1 
 1.351 ±Sigma    = 21.35 
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 1.351 ±Sigma    = 21.35 
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 8.063 ±Constant =  73.9 
 2.026 ±Mean     = 604.1 
 1.447 ±Sigma    = 22.86 
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 8.063 ±Constant =  73.9 
 2.026 ±Mean     = 604.1 
 1.447 ±Sigma    = 22.86 
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